S ST AR

PS-5-8-1 20

A B

PR 2948 4 4 H

E i

it ib Rl I Al el ANE

SRk 29 4F 8 H

H A 7158 AR A AL




5 0 22 O it S 12 >y T

1. BO s o2

Bl e 1k, FEMEEIC K28 B o B S B~ o Bl 2 X
MANZB LT B2, M2 KE2 R0 T < E 3 2 8k # i
BETCTHY, RKimm S 3 FMT T.P.+20m, #H M m &k N m T
T.P.+18m T %,

ZTORLERIZIAN L.TImTH Y, AR T U7 (§0.3kn) Kk
CZoMm#EMmE LY 7 (W l.4km) »H7d,

WARKR 7 Y TIZONWTIEL, =7 U — hiE o H i fe BE
FHEMEE S L, EEHMEIIME o #ER ST U —
DIAEEN D2 D, £7, ZOMEBMEL = U 7IZHoWTIE, 8
AT EE LSy 27— EO LEBETH D,

B R OB R & R 1R,

N\

!37‘7' o= @
[T SN
%%&g}*”“

&E’ﬁi;
%-fﬂ?£QEMh

T~
2 0 fit 07 30 ) = z,{ e DES RS
! Ifwé.b[.

==
MEEW’

%H!.n“

= [
—
|

b g

—~—0

n‘f‘/7°iU7
A

=

1 B A E
1



S

BH LR O Mt DREARIC M 72 o CTik, KMEHRFBICELDEE Y I 2 L —
ariZBWnWT, BlEmIARbE <, oRHE S oKy, B
SOBEE NP RO REL RLIBARKR 72 THRDAZRERE L2 L
T, BHWER oM BN ) & RE A L

B B 7 o0 BEAM L, EEVEEEBE KON T. P 424, Om HEP I DWW T E M
L7,

Al 2 AT o oK AR 7 U 7 JE D oo B R B E X M OV i X A

X 2 ~X 51257,

B2 KR T T8RN E X



15500

P25 11000

225

100_4500 4400

Kifizm VT. P. +20. Om

i LETERZURD
[/ e s
]
T.P.+2.7m S
ERET ) s
3
gy s U — b FH 2
bl
i
N Y
™~ )
&+
F
g
b3
(=3
2
(=3
VT.P.-52.Tm -
TYY Y TYYYY =y
B g
V1P -56.0n &

X 3 g ®LEh

404‘ 10700

Lo

15500

TP+2. 70m
(BB EtH 0TS o
S
[y
<

i BEWT I X (A — A W)

10000
7100 00
0f
| KB VT, P. +20. 00m
=
8
b
VT.P.-34. 4n

=

X4 =7 U — FWEBERmX (B— BWH)

3



3,500

1.550__ 1,950 | poge
T.P.+20.00
T.P.+19.50
g
K
T.P.+4.50
I

SRl

L=55. 5m

L1 T.P.-61.0

X5 HEMEH 2 ) — PR EERRKX (C— C W)



59 52 W AE M 9 2 W & REAN 9 D BR O B AT AR oW T, 8k
a7 U— MBIMEEZ Bl L LT 6 I2RT,

\

i\
1
1
1
N (n/2) =10.5n
1
1
:
1

N T.P.+24.0m (#E &)
r-“\

1
1
1
1 \
1
1

T.P. +20. 0m (B5 & K ¥ &

n =21.0m

T.P.+3.0m (%5t &)
2R

p=p Xg X (aXn/2)
W E (kN/m?)
DMK DO EE (=1.03t/m?)

: ) EE (=9.80665m/s?)
KGR (=3.0)
CHEE A (m)

S QMm@ DT

X 6 FEE e E AT X (R S T.P.+24. 0m D f1)



3. W E S ITEB T DM ) RE AR S
(1) S ERE K Vg = > 7 U — KBl i
FEYEE Y TP +24. 0m R ICX T o RF A R A2 £ 1 ITR T,
ETOFl B CTRAEMEN 1.0 2 TH->TWD,

F1 BB ERE R OBy 2 v 7 U — b B EEE O A A R
(RS - M /0 /E A k)

il o T A

al At W i FLUE Y | TP+24m MEWY | EVEEWE | TP+24m HE

581 14 1) 3 R

" 0.63 0. 88 0. 66 0.83
(A — AWrm)

a7 U — k
B ) B — — — —
(B — B Wrif)

) B—BWAICOWVWTIE, A—AWMBEIV OETEORIERICBWVWTLE2BENE W
CENHERENTWAER OB ZEKLEZ (I - FABIICEL TR 1.1 4F)




(2) #AEHSEF = 7 U — b By aE
FEUE R OV T.P. +24. 0m HEJR IS T 55 MiAE R 42 £ 2 10577,
2 TORFMmErm CHRAEM? .02 FTE > TW5S,

*2 MEREE =7 U — B EE O FEAf R
(M A | - i 0 1F H H)

il A W

s fif W i B UEE Y | TP+24m Hi | FEUEHEYE | TP+24m B

B E LB = v

7 ) — b 5 B

(C—Clrm.
FL AR 50

0.76 0.72 0.18 0.10

HE LR = v

7 U — kB i EE
(C—Clrm.
BE (K350 )

R R R R

D




